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Question Id : 3421231541 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

The following table shows the total exports (in ¥ Core) of six countries A-F over the five years
from 2019 to 2023. Based on the data in the table, answer the questions that follow.

Country-wise Details of Exports.

Exports (in T core) in the vear
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40 |80 120 |90 180
60 |30 |30 [100 (200
100 |110 |140 180 |130
90 |120 |40 |30 |30

120 |100 |110 |200 |220
48 |80 [120 [130 (240

Country

Hm|g|a|we] e

Note: Income =Exports —Imports

Sub questions

Question Number : 1 Question Id : 3421231542 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What was the income of all the six countries together in the year 2023 if the total imports of all
these countries together was 770 cores in the same year.

1. ¥ 250 crores

I

. % 320 crores
3. 2 560 crores

4. Z 480 crores

Question Number : 2 Question Id : 3421231543 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In the year 2019, if the ratio of exports to imports for country D and country F are 1:2 and 4:1.
respectively, then what is the total import of countries F and D together in the same year?

1. % 104 crores

(]

. ¥ 184 crores
3.3 192 crores

4. % 130 crores

Question Number : 3 Question Id : 3421231544 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the export of country A in the year 2024 is 20% more than the combined export of country B in
2022 and the export of country E in 2021 together, then what is the income of country A (in T
crore) in the year 2024, if its import is T 184 crore for that year?

1. 106
2. 44
3.92
4. 68

Question Number : 4 Question Id : 3421231545 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Over all the given years, the average export of country E is % more than the average
export of country C.

1,131
11
gl
11
5
3.13=
>
4.121
7

Question Number : 5 Question Id : 3421231546 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the approximate percentage increase in the export of all the countries together in the year
2022 in comparison to the year 2020?

1. 40.67%

(]

T2 39%
3. 38.89%

4. 62.99%

Question Id : 3421231541 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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Correct Marks : 2 Wrong Marks : 0
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Question Number : 2 Question Id : 3421231543 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 3 Question Id : 3421231544 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e 99 2024 T G A &1 {9970 99 2022 H S B 3R 94 2021 H S E &l FAHR I9b g
aid ¥ 20% 18P g, I G A D1 a8 2024 H 317 Tl ( z RIS ) 8, TG 3T a4 3D 2
184 RIS M 82
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2. 44
3.92
4. 68

Question Number : 4 Question Id : 3421231545 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 5 Question Id : 3421231546 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 6 Question Id : 3421231547 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Reena wanted to eat an ice-cream. She took out a phone number online. She repeated the number
over and over again while dialing. After order was delivered she forgot the number. This is an
example of the use of which memory process?

1. Short-term memory

[

. Automatic Processing
3. Echoic Memory

4. Iconic Memory

Question Number : 6 Question Id : 3421231547 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 7 Question Id : 3421231548 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The contents of Swayamprabha channel —4 with the theme of “Education and Home Science™ are
provided by:

1. CEC, New Delhi

]

 IIT, Madras
3. IGNOU. New Delhi

4. IIT Delhi

Question Number : 7 Question Id : 3421231548 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 8 Question Id : 3421231549 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which higher-order knowledge can make the difference between how well and quickly one's
students learn material?

1. Declarative
2. Rote
3. Metacognition

4. Procedural

Question Number : 8 Question Id : 3421231549 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 9 Question Id : 3421231550 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the interactive whiteboard softwares that allow teachers to create
digital lessons, annotate documents and collaborate with students in real time?

A. Jamboard

B. Camtasia

C. Stormboard
D. Concept board
E. Plotagon

Choose the meost appropriate answer from the options given below:

1. B and C only

[

A, Cand D only
3.C,Dand E only

4. A. B and E only



Question Number : 9 Question Id : 3421231550 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 10 Question Id : 3421231551 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which type of assessment do students measure their own progress against their previous
performance rather than against external criteria or peers?

1. Peer Assessment

2

. Ipsative Assessment
3. Formative Assessment

4. Summative Assessment

Question Number : 10 Question Id : 3421231551 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 11 Question Id : 3421231552 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

which of the following represents the epistemological orientation of quantitative research?

1. Interpretivism
2. Constructionism
3. Positivism

4. Induetivism

Question Number : 11 Question Id : 3421231552 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 12 Question Id : 3421231553 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A measure of the consistency of observations of a single situation made by different people refers
to.

1. Construct validity

(]

. Internal validity

ad

. Split-Half reliability

4. Interrator reliability

Question Number : 12 Question Id : 3421231553 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 13 Question Id : 3421231554 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The approach in which researchers use the existing data to create groups for comparison is called

1. Operational

t-2

. Ex post facto
3. Experimental

4. Quasi-experimental

Question Number : 13 Question Id : 3421231554 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 14 Question Id : 3421231555 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the nominal variables.

A. Gender

B. Annoyance level

C. Caste

D. Temperature in Kelvin
E. Economic status

Choose the correct answer from the options given below::

1.A. B, CandD only
2. Aand C only
3.B and E only

4. A B, CandE only

Question Number : 14 Question Id : 3421231555 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 15 Question Id : 3421231556 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the probabilities corresponding to the standard normal variate *z' lying in the following
intervals, in increasing order.

A —n<z<+1
B.0<z<+3
C—-1<z<+1

D.z > +1

Choose the cerrect answer from the options given below:

1.D.,B, C, A

]

AB B A
3.A.C.B.D

4.B,D,A,C

Question Number : 15 Question Id : 3421231556 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fFafaRad sicRTdl # fRd AF® 91f® @R <z & 3Hdhd Wi drsil @ SRigh HH § Jafeyd
DIfIT:

A —0 <z < +]

B(0<z<+3

C.—1<z<+]

D.z>+1
T feu U 9wyl § 9 a1 IR B 99 DIIT;

1.D,B,C, A

[

A BBUA
3.3)A,C,B,D

4.B,D,A,C

Question Number : 16 Question Id : 3421231557 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In communication, a text is a product of.

1. Non-responsiveness

]

. Military exercises
3. Social interaction

4. Neurological research

Question Number : 16 Question Id : 3421231557 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 17 Question Id : 3421231558 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The idea that mass media do not have much power to directly influence the audience led to the
concept of.

. Limited effects
2. Mass effects
3. Individual effects

4. Regulated effects

Question Number : 17 Question Id : 3421231558 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 18 Question Id : 3421231559 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are considered hot media?

A. Telephone

B. Television

C. Radio

D. Cinema

E. Photographs

Choose the correct answer from the options given below:

1. A, B. Conly

2.B.C.Donly

3.C.D.E only

4. A. D, E only

Question Number : 18 Question Id : 3421231559 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 19 Question Id : 3421231560 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following social sciences have contributed much to the knowledge of mass
communication?

A. Anthropology
B. Sociology

C. Psychology

D. Social medicine
E. Defence studies

Choose the correct answer from the options given below:

1. A, D, E only

b2

.C, D, E only
3.B.C.Donly

4. A, B, C only

Question Number : 19 Question Id : 3421231560 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 20 Question Id : 3421231561 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-T with List-IT

LISTI LISTII
Concept Related medium
A | Attention economy [. |Public speech
B. |Narrow casting II. | Television
C. | Synchronous audience III. |Internet
D |Peculiar form of presentness | IV, |FM Radio

Choose the correct answer from the options given below:

1. A-I, B-II, C-1II, D-IV

(]

. A-II, B-III, C-IV, D-1
3. A-III, B-IV, C-1, D-II

4. A-IV, B-1, C-II, D-IIT

Question Number : 20 Question Id : 3421231561 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-I, B-II, C-III, D-IV

[

. A-II, B-IIL, C-IV, D-I
3. A-III, B-1V, C-1, D-II

4. A-IV, B-1, C-II, D-III

Question Number : 21 Question Id : 3421231562 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



60 persons consume 300 kg of wheat in 40 days. In how many days will 25 persons consume 100
kg of wheat?

1. 28 days

(]

. 30 days
3. 32 days

4. 35 days

Question Number : 21 Question Id : 3421231562 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 22 Question Id : 3421231563 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Find the next term in the number series 2A11, 4D13, 12G17, 48123,

1. 245N32

f-2

. 228L.30
3. 240M31

4. 230M29

Question Number : 22 Question Id : 3421231563 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2A11,4D13, 12G17, 48J23,

1. 245N32

2

228L30
3. 240M31

4. 230M29

Question Number : 23 Question Id : 3421231564 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

By selling 35 eggs for Rs 30, a man loses 25%. How many eggs should he sell for Rs 144 to gain

20%?

1.8

LA

[
o
h

4. 115

Question Number : 23 Question Id : 3421231564 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 24 Question Id : 3421231565 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding language, the word *SLIGHT" is coded as “UJKEJR’, then the word
'GROUND will be coded as

1. ITQWPF

(]

. ISPVOH
3. IQRTOB

4. IPQSPB

Question Number : 24 Question Id : 3421231565 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 25 Question Id : 3421231566 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Three successive discounts of 10% 20% and 30% on the marked price of an item are equivalent
to a single discount of

1. 60%

I

. 50.4%
3. 54.6%

4. 49.6%

Question Number : 25 Question Id : 3421231566 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 26 Question Id : 3421231567 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the fallacy committed in the following statement: “Water is nonpoisnous compound.
Therefore, its components oxygen and hydrogen are nonpoisnous”™.

1. Fallacy of Division
2. Equivocation
3. Slippery Slope

4. Hasty Generalization

Question Number : 26 Question Id : 3421231567 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 27 Question Id : 3421231568 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If the statement “No monkeys are feline.” is given as true then which of the following statements
can be interferred to be true?

. Some monkeys are felines

(]

. Some felines are monkeys
3. All felines are monkeyvs

4. Some monkeys are not feline

Question Number : 27 Question Id : 3421231568 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 28 Question Id : 3421231569 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent.

A. No monkeys are felines.

B. Some monkeys are felines.

C. Some felines are monkeys.
D. Some monkeys are not feline.

Choose the correct answer from the options given below:

l. Aand D only

I

. B and C only

3. B and D only

=

.B. C and D only



Question Number : 28 Question Id : 3421231569 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 29 Question Id : 3421231570 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following two statements cannot both be true but can both be false?

A. All Monkeys are apes.

B. Some monkeys are apes.

C. Some monkeys are not apes.
D. No monkeys are apes.

Choose the correct answer from the options given below:

l. Aand D only

f-2

. A and C only
3. B and C only

4. B and D only

Question Number : 29 Question Id : 3421231570 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 30 Question Id : 3421231571 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following arguments is fallacious because the major term is all pervasive and the
middle term is all-inclusive?

1. The sky-lotus is fragrant because it is a lotus.

]

. Socrates is immortal because he died long ago.

3. Sound is eternal because it is audible.

-+

. Evervthing is nameable because it is knowable.

Question Number : 30 Question Id : 3421231571 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 31 Question Id : 3421231572 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following electronic technologies is the key technology for making the third
generation electronic computer?

1. Transistor based

I

. Integrated Current (IC) based
3. Vacuum tube based

4. Macroprocessor based

Question Number : 31 Question Id : 3421231572 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 32 Question Id : 3421231573 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following would create the most stable computer network with the fastest data
transmission?

1. Use a wireless access point to connect devices

(]

. Connect devices wirelessly using mobile phone
3. Use coaxial cables to connect devices in sequence

4. Connect devices to a switch using optic fibre cables

Question Number : 32 Question Id : 3421231573 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 33 Question Id : 3421231574 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the sequence of words A-E that correctly fills the blanks in the following paragraph:

In the context of human-computer interaction, a is an interface built around visual things
and Windows-11 is an example of an with these visual things. is region of
the screen used to display information. is a small picture that is used to represent
folders, software etc., whereas is a list of options that the user can select from.

A0S
B. Menu
C. Window
D. Icon
E. GUI
Choose the correct answer from the options given below:
LE.AC.EB B
2AEDCHEB
3.E.A.C.D,B

4.B,C,AE,D

Question Number : 33 Question Id : 3421231574 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 34 Question Id : 3421231575 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

With reference to the open source software, which of the following statements are correct?

A. It 1s a software that is distributed with its source code.

B. It allows anyone to modify the software to best fit their needs.

C. It is a software that anyone can use on a trial basis before paying for it.
D. Linux is a example of open source software.

Choose the correct answer from the options given below:

l.A. BandD only
2.A.B.CandD only
3. A.Cand D only

4. B and C only

Question Number : 34 Question Id : 3421231575 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 35 Question Id : 3421231576 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LIST1I LIST II
(Malware tyvpes) {Characteristics)
Trapdoor I. |Produces varying but operationally equivalent copies of itself
Time Bomb II. |Code that allows unauthorized quick access at a later time.

Polymorphic Virus | III. | Instructions interpreted rather than executed

ola|w|

Macro virus IV. | Triggers action when specified time occurs

Choose the correct answer from the options given below:
1. A-III, B-IV, C-1, D-II
2. A-IL B-1V, C-1, D-1II
3. A1, B-II, C-III, D-IV

4. A-1I, B-1, C-IV, D-IIT

Question Number : 35 Question Id : 3421231576 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-III, B-IV, C-1, D-II

t-2

3. A-L, B-1I, C-IIL, D-1V

4. A-11, B-L, C-IV, D-III

. A-II, B-1IV, C-1, D-IIT

Question Number : 36 Question Id : 3421231577 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following Green House Gases (GHGs) was considered during the second
compliance period of Kyoto protocol at Doha?

1. Sulphur Hexafluoride (SFg)

[

L

4. Perfluorocarbons (PFCs)

. Hydrofluoro Carbons (HFCs)

. Nitrogen Trifluoride (NF3)

Question Number : 36 Question Id : 3421231577 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 37 Question Id : 3421231578 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

; i LIST I
(Particulate Matter {Explanation)
Terms) P

Particles formed by incomplete combination with mixture of carbon

A | Aerosol L 3
volatiles

B. |Nano Particles II. | Particles with size less then 2.3 micro meter

C. |Smoke IT1. | Particles with size less than 0.2 micrometer

D. |Fine particles IV, | Any solid or liquid particle suspended in air

Choose the correct answer from the options given below:

1. A-IV, B-1II, C-II, D-I

f-2

. A-IV, B-1II, C-1, D-II
3. A1, B-II, C-IV, D-II

4. A-1, B-11, C-III, D-IV

Question Number : 37 Question Id : 3421231578 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 38 Question Id : 3421231579 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is an example of negative feed back in the context of climate change?

. Oceans remove carbon dioxide from the air

t2

. Warming increases water vapour in air

3. Snow cover loss and 1ceshelf melt reduce sun's reflection

i

. Global temperature increases due to global warming

Question Number : 38 Question Id : 3421231579 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 39 Question Id : 3421231580 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Burning of solid waste, such as cans, batteries, plastic etc. generate

A. Microplastics

B. Chlorofluorocarbons (CFCs)

C. Dioxins

D. Polychlorinated biphenyls (PCBs)
E. Halons

Choose the correct answer from the options given below:

1. A, B, CandD only

t2

. A, Cand D only
3.B.Dand E only

4. B. C and E only

Question Number : 39 Question Id : 3421231580 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 40 Question Id : 3421231581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
(Nature of substances) (Effect)
A | Allergens [. | Substances that cause cancer
B. |Carcinogens I1. |Substances that can hamper embryvonic growth
C. |Mutagens III. |Substances that activate the immune system
D. | Teratogens IV. |Substances that can damage or alter genetic material

Choose the correct answer from the options given below:

1. A-IV, B-1, C-II, D-III

2

. A-IV, B-11, C-1, D-TIT

3. A-IT, B-1, C-1II, D-IV

4. A-III, B-1, C-IV, D-II

Question Number : 40 Question Id : 3421231581 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. A-IV, B-IL, C-I, D-TII
3. A-IIL B-L, C-II, D-IV

4. A-III, B-1, C-IV, D-1II

Question Number : 41 Question Id : 3421231582 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A British official of the East India company who was interested in higher learning in India was.

l. Francis Gladwin

t2

. William Ward

3. William Adam

i

. William Jones

Question Number : 41 Question Id : 3421231582 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 42 Question Id : 3421231583 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Education policy, 2020 supported the idea of:

1. Science only education

]

. Fragmented research
3. Rigorous specialization

4. Segregating humanities and science

Question Number : 42 Question Id : 3421231583 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 43 Question Id : 3421231584 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The components of quality education identified in the national education policy of 2020 are:

A. Political affiliation
B. Curriculum
C. Pedagogy
D. Continuous assessment
E. Higher fee
Choose the correct answer from the options given below:
1. A. B only
2.B.C.Donly
3.C.D.E only
4. A, C.Eonly

Question Number : 43 Question Id : 3421231584 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 44 Question Id : 3421231585 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following norms are prescribed for foreign universities to set up their campuses in
India.

A. Foreign universities must invest in the Indian manufacturing industry.

B. They should have secured a position within the top 500 in global ranking.

C. They should have secured a position within the top 500 in global ranking in the subject-wise
category.

D. They should employ only Indians for teaching and non-teaching.

E. They should possess outstanding expertise in a specific area.

Choose the correct answer from the options given below:

1. A. B only

2.B.C.Donly

3.C,D,E only

4. B, C, E only

Question Number : 44 Question Id : 3421231585 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 45 Question Id : 3421231586 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-T with List-IT

LIST1I LISTII
Five vear plan Agency set up
Farst five year plan I. | Autonomous colleges

Second five vear plan| II. |University Grants Commission

Third five year plan | III. | Specialized departments of scientific studv

ola|w|

Fifth five vear plan IV, | Two rural institutes in Wardha and Mysore

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV

I

. A-II, B-1II. C-IV, D-1

3. A-IIL B-IV, C-1, D-1I

o

. A-1V, B-1, C-II, D-IIT

Question Number : 45 Question Id : 3421231586 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. A-II, B-III, C-IV, D-1

3. A-IIT, B-IV, C-1, D-II

4. A-IV, B-1, C-1I, D-III

Sub-Section Number : 3
Sub-Section Id : 34212363
Question Shuffling Allowed : No



Question Id : 3421231587 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

A careful study of the Rig-Veda shows that even in the early times, karma and jiiana were
recognized as two separate factors in the spiritual progress of man. Karma is connected with the
world immediately above the one in which we live; and jiiana is connected with the world further
above that. Agni and Indra are connected with sacrifices. and the gods of the highest world are
connected with prayer, and jiana. Since the Vedic Samhitas are intimately connected with
sacrifices, it i1s but natural that the gods connected with sacrifices, the gods of the two lower
regions, should be more prominent in the Rig-Veda. It is only through jiana that the soul can get
into a state of everlasting bliss. This jiana is esoteric knowledge. At the time of the Rig-Veda, the
rsis had evolved a highly complicated system of philosophy and that the value of jiana as a
means to final release from the world of physical bondage had been well established. The Yajur-
Veda and the Sama-Veda are of little importance to a student of ancient Indian culture. One notes
the same optimistic tone in the Yajur-Veda, regarding man’s life in this world and his future in the
other world. Material plenty is also quite noticeable. Gold and ornaments are spoken of freely as
covetable objects. Cows are mentioned in thousands. So far as culture is concerned, so far as
religion and philosophy go, there is no difference between the Rig-Veda and the other two Vedas

Sub questions

Question Number : 46 Question Id : 3421231588 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Rig-veda, Agni is connected with.

1. The world immediately above the one in which we live in

(]

. Sacrifices
3. Souls with everlasting bliss

4. The gods of Wisdom

Question Number : 47 Question Id : 3421231589 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Rig-Veda. Jiiana refers to.

. Primitive culture

(]

. Predominance of sacrifice

3. Everlasting bliss

Y

. The gods of the highest world that are connected with sacrifices



Question Number : 48 Question Id : 3421231590 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The optimistic tone regarding man’s life in this world and his/ her future in the other world exists
in:

1. The Yajur-Veda
2. The Sama-Veda
3. The Atharva Veda

4. Rig-Veda

Question Number : 49 Question Id : 3421231591 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

At the time of Rig Veda . the rsis valued jiiana as means.

1. To find signs of a gloomier side in man’s life
2. To sacrifice and dissociate
3. To find release from the world of physical bondage

4. To rule and regulate

Question Number : 50 Question Id : 3421231592 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the original source of cultural life of the Hindus?
1. Itihasas
2. Puranas
3. Manu

4. Sacred Vedas

Question Id : 3421231587 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 3421231588 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 47 Question Id : 3421231589 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 48 Question Id : 3421231590 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. 3fddg
4. B71dq

Question Number : 49 Question Id : 3421231591 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 50 Question Id : 3421231592 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Sub-Section Id : 34212364
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 3421231593 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per Vedantasara, ‘upastha’” is born of:

1. Rajoguna
2. Sattvaguna
3. Tamoguna

4. Mix of Sattva and Rajo gunas

Question Number : 51 Question Id : 3421231593 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 52 Question Id : 3421231594 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per Samkhya' “Upadana™ is a type of:

1. Viparyaya

t2

. Ashakti

3. Tushti

4. Sidhhi



Question Number : 52 Question Id : 3421231594 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 53 Question Id : 3421231595 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per Nyava, “visheshanata relationship™ is -
. Samavaya relationship
2. Swarupa relationship
3. Samyoga relationship

4. Temporal relationship

Question Number : 53 Question Id : 3421231595 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 54 Question Id : 3421231596 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The shape of Jiva is based on the shape of the body. This is a principle.
1. Advaita
2. Samkhya
3. Jaina

4. Bauddha

Question Number : 54 Question Id : 3421231596 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 55 Question Id : 3421231597 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Specify the sequence of gunas as laid out in Tarkasangraha:

A. Dubkha
B. Sukha

C. Buddhi
D. Dwesha
E. Ichchha

Choose the correct answer from the options given below:

1.B,C.A DE

b2

G BACE D
3.0, BCD.E

4.C.ABD.E

Question Number : 55 Question Id : 3421231597 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 56 Question Id : 3421231598 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Specify the causes in the right sequence on the basis of Pratityasamutpada.

A. Touch (Sparsha)
B. Shadavatana

C. Sanskara

D. Vijnana

E. Namarupa

Choose the correct answer from the options given below:

1.D,B,C.E, A

B

DL EBoA

3.4,B,C,D,E

4. B, ACIDE

Question Number : 56 Question Id : 3421231598 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T de & Sf=<id SHdld SR & HH Bl 9d -

A T
B. §3[4dd
C. YR
D. faxIH

E. MY
i fu U fad el § 9 @81 IR &l 994 Diflu;

1.D,B,.C,E, A

[

.C,D,E,B,A
3.A,B,C,D,E

4B, A.C.D.E
Question Number : 57 Question Id : 3421231599 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The term ‘ardha-brigala’ in Brihadaranyaka Upanishad indicates:

A. Primacy of female

B. Primacy of male

C. Inequality between male and female
D. Complementarity of male and female
E. Similarity of pati and patni

Choose the correct answer from the options given below:

1. A and C only

B

.D and E only
3. Aand B only

4. A and E only

Question Number : 57 Question Id : 3421231599 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



JEaRUS IUFNG H T -3/l Ueg ST § -

A. Tl B Ul DI

B. U5 Bl YTl &l

C. GO - Tl &l A Bl

D. T3V - ¥l & TRER Rbdl i
E. Ufd - Ul &1 YRS &l

i feu T fahedl § 9 a1 IR B 99 DIIT;
. Had ATUIC

2. Had D dUTE
3. Hdd AJUTB
4. Had AJUTE

Question Number : 58 Question Id : 3421231600 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The term “pradhana™ in Samkhya implies

A. Ahamkara
B. Prakriti

C. Buddhi

D. Purusha
E. Manas

Choose the correct answer from the options given below:

1. A and E only

b2

. E and D only
3. Aand B only

4. B and C only

Question Number : 58 Question Id : 3421231600 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



R H Uy Y arad g -
A 3EgR
B. Upfd
c. 9=

D. TN
E. 599

i feu T fahedl § 9 a1 IR B 99 DIIT;
1. Had ATUTE

2. HAd EdUTD
3. Hdd AJUTB
4. Had B 94T C

Question Number : 59 Question Id : 3421231601 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
A |Kakshivan I | Ambhrini
B. | Yajnavalkya II. |Bharati
C. | Vak-Sukta III. | Ghosha
D. |Mandana Mishra | IV | Maitreyi

Choose the correct answer from the options given below:
1. A-IV. B-III, C-1, D-II
2. A-IV. B-1II, C-I1, D-I
3. A-III, B-IV, C-1, D-IT

4. A-1, B-II, C-II1, D-IV

Question Number : 59 Question Id : 3421231601 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AT 1S 1Y &I 11 DT e Hifoy

T I T 11
A |Daflae | L |3myul
B |OFde™ | I |4l
C. |a/Rgad | IL |99
D. |quedfay | v |Ead
A< faU U [qhedl T 9 Wt 3R &1 98- DIfSIT:

1. A-IV, B-111, C-1, D-II
2. A-IV, B-1II, C-II, D-I
3. A-IIL B-1V, C-1, D-II

4. A-I, B-II, C-1II. D-IV

Question Number : 60 Question Id : 3421231602 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT (As per Saundaryalahari)

1ISTI LISTII
A | Muladhara I |Agnm
B. |Hridaya II. |Jala
C. |Manipura III. | Vayvu
D. | Swadhishthana | IV, | Prithwi

Choose the correct answer from the options given below:
1. A-IIT, B-IV, C-I1, D-I
2. A-IV, B-III, C-I1, D-I
3. A-IIL B-IIL C-I, D-IV

4. A-I, B-II, C-III, D-IV

Question Number : 60 Question Id : 3421231602 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AT 1S Y T 11 BT A B (diadded & SUR)

AT T 11
A |HEER | L |@
B. |gad 1 |
c. |HiigE | |49y
D. |9y | Iv. | g
d feu MU [ddh el o 9 Wgt SR &1 99 BT

1. A-III, B-1IV, C-II, D-1
2. A-IV, B-1II, C-II, D-I
3. AL B-III, C-I, D-IV

4. A-I, B-II, C-1II. D-IV

Question Number : 61 Question Id : 3421231603 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The term “Vikarma™ in Geeta Shankarabhashya implies:

1. Actions aligned to Shastras
2. Actions in opposition to Shastras
3. Lack of action due to laziness etc.

4. Actions which are aligned to Dharma

Question Number : 61 Question Id : 3421231603 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl iU H g I drad g -
RADA HH

TS dH

3. TG & RSP HH Bl Tg1 DT

YT S

—

B

+



Question Number : 62 Question Id : 3421231604 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per Dharmashastras. the term. “Sahasa™ implies:

1. Hurting someone through one's words

(]

. Hurting and damaging someone's body parts.
3. Killing someone.

4. Violating someone sexually.

Question Number : 62 Question Id : 3421231604 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YHRIRAT § W8S ¥ did g
1. aTofl ¥ G T S1gd Al

2. Thdl & U Bl &f U Bl

3. fhdl &l g1 Sl
4. T4l &1 2 HIT BT

Question Number : 63 Question Id : 3421231605 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per Geeta Shankarabhashya, the term “Atmanusandhana™ is

1. Pravritti-mulaka dharma

]

. Nivritti-mulaka dharma

3. Pravritti and Nivritti-mulaka dharma

4. Nirvritti-mulaka dharma

Question Number : 63 Question Id : 3421231605 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tl MBI & SHTER -SEATHUA" § -
UgRHE® 4o

TgRes o

 ggfa qur g o

4. FAdieted oo

—

[~

L8]

Question Number : 64 Question Id : 3421231606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The law of Karma is related to

1. Religion

t2

. Dharma
3. Mazhab

4, Marxism

Question Number : 64 Question Id : 3421231606 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1 e g
e
R ERER
4. HTGHaTG

f-2

L

Question Number : 65 Question Id : 3421231607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is not listed amongst the 10 lakshanas of Dharma in Manusmriti?

A. Akrodha
B. Ahimsa

C. Dhriti

D. Kshama
E. Pratyahara

Choose the correct answer from the options given below:
1. A and B only
2. B and C only
3.B and E only
4. D and E only

Question Number : 65 Question Id : 3421231607 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AHfd & “axrd 4iaeun] O S =gl g2

A 3Py
B. 3AfgHl
c.9gid

D. &HI
E. UdlgR

4 fau U fasedl § 9 ¥8T 3R &1 994 DI

1.AJYIB

B

.BdYlC

3.BAUIE

4. DJUTE

Question Number : 66 Question Id : 3421231608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



As per Purva and Uttara Mimamsa respectively. the causes of fruits of actions are

A. Prakriti
B. Samskara
C. Apurva
D. Ishwara
E. Adrishta
Choose the correct answer from the options given below:

l.Aand B
2.Band C
3.Cand D

4. Dand E

Question Number : 66 Question Id : 3421231608 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ud 3[R IR HiHier &1 €ff 4 HHbd b SR G (HHR) -
A. UPid
B. YR
C. 3qd
D. ¥R
E. 3y
A feu U fahedl § 9 8T IR B 98- DIIT;

1.AJYIB

B

.BdYlC

3.CdUID

4. DJUTE

Question Number : 67 Question Id : 3421231609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The phrase “Swadharme Nidhanam Shreyah Paradharmo Bhayavahah™ appears in:

A. Ramayana

B. Upanishad

C. Manusmriti

D. Bhagavadgita

E. Yajnavalkya Smriti

Choose the correct answer from the options given below:
1. A and B only
2. B and C only
3.D only

4. D and E only

Question Number : 67 Question Id : 3421231609 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gyd e 99: ReH! Hadeg: Ug vldd g U= 9 g2

A, 0]
B. 3UHTEG

C. AFSid
D. HiTdeldl
E. didedd Hfd
4 feu U fasedl § 9 ¥8T 3R &1 994 DU
. Hdd AdUTB
2. HIA B AU C
3. HddD

4. hdd D dUTE

Question Number : 68 Question Id : 3421231610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



One enters into the Samnyasa ashrama

A. only after Brahmacharya ashrama

B. Post Brahmacharya, Garhasthya and Vanaprastha

C. Only after Brahmacharva and Vanaprastha
D. Whenever vairagya occurs - after that

E. Never

Choose the correct answer from the options given below:

1. A and B only

2. B and D only

3. B and C only

4. C and E only

Question Number : 68 Question Id : 3421231610 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YT 3yH H YA gRIT § -

A. &ad §gad & 9l

B. SRy, Mo YT IR & d1q
C. ®had sy 3R IFUR & 914
D. oid Hi IR gl 39 4G

E. &4l qel

- feu U faseut # ¥ F81 IR 1 99 DI
1. hdcdl ATYUTB
2. Had B AYUTD
3. Had B AU C
4, %d C IUTE

Question Number : 69 Question Id : 3421231611 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-T with List-IT

LISTI LISTII
Taking bath I | Kamva
Producing progeny I[I. | Upasana

Earning money by hard work for purchasing several houses | 11T | Naimittika

ofla|w|w

Developing a base for focusing the Chitta IV, | Nityva

Choose the correct answer from the options given below:

1. A-IIL B-IL C-I, D-IV

b2

. A-IV, B-11I, C-1, D-II
3. A1l B-II, C-1IV, D-1

4. A-I, B-11L, C-1I1, D-IV

Question Number : 69 Question Id : 3421231611 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1% 1Y &I 11 D1 e Hifoe

T 1 TH 11
A |EE I |®rg
B. | g=dfd I&d BT I | 3O
C. |3 R Tiigy &1 3557 T uRy™ & gRT 85 $9F | 101 | AR
D. | Fd & usrmdal & ol e s=mET |
1< 3T U [qhedl § 9 W1 IR &1 994 DI

1. A-IIT, B-1I, C-1, D-IV
2. A-IV, B-III, C-1, D-II
3. A-IL. B-IIL, C-IV, D-1

4. A-I, B-II, C-III, D-IV

Question Number : 70 Question Id : 3421231612 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



ST UTdIATGHATIOT: is from -

1. Kathopanishad
2. Bhagvadgita
3. Shwetashwataropanishad

4. Ramayana

Question Number : 70 Question Id : 3421231612 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

- HTHZITTY AR HiddATgH-INUE g TR U § -
|. HoluHNG
2. WG
3. ARG

4. XHMEY

Question Number : 71 Question Id : 3421231613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which pair is known as foe in Bhagavadgita

|. BTH and AIY
2. BTH and DY

3. Wandﬁl—ﬁ'

4. dIH and 3egR

Question Number : 71 Question Id : 3421231613 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Waeldl | il [had! Fgl 6 -
1. BTH 3R Y
HH AR BIY

®HH 3R HAG

f-2

L8]

4. B 3R 3EER

Question Number : 72 Question Id : 3421231614 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one is named as permanent foe in Bhagavadgita.

1. Y
Bl

3. Hlg

4. ®H

[

Question Number : 72 Question Id : 3421231614 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

WIagTal H FaR fue! &8l § -
1. dY
2. BIY
3. 1lg

4. ®H

Question Number : 73 Question Id : 3421231615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



As per Advaita Vedanta “TI8f* means:

A. To establish in Sva

B. Destruction of Ignorance

C. To enjoy pleasure through organs
D. To achieve worldly things

E. To achieve longevity

Choose the correct answer from the options given below:
l.Band C
2.CandD
3.AandB

4. Dand E

Question Number : 73 Question Id : 3421231615 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3fgd dald & IR Hig &I 31 g -

A WHRG g

B. 33 &1 AT g

C. i< g &1 U HAT
D. 3G Bl UId Sl

E. [eRTg &1 U1 &=l

4 fau U fasedl § 9 ¥8T 3R &1 994 DI

I.BdYUIC

B

.CddlD

3.AJUIB

4. DJUTE

Question Number : 74 Question Id : 3421231616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In Bharatiya Darshana (except Charvaka), the foundation of rebirth is:

A. Moksha

B. Desire

C. Atmasakshatkara

D. Sakama Karma

E. Naishkarmya Bhava

Choose the correct answer from the options given below:

l.Cand D
2.Aand B
3.Band D

4. Dand E

Question Number : 74 Question Id : 3421231616 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR G2 § (drdic ©f BISHR) Yo+ 6l YR g -

AHIY

B. 31

C. THTETHR
D. YBH &H

E. IhH] HIg

4 fau U fasedl § 9 ¥8T 3R &1 994 DI

1.CdUID

B

L AdUlB

3.BdUID

4. DJUTE

Question Number : 75 Question Id : 3421231617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-T with List-IT

Tist1 Tist1I
A.eﬂ;: OTTareS | IO

B T FH 1L | Treft

AR
C. gc 2??EE 11| =ita:
D |5 AR IV, | SERaEUa&uH

Choose the correct answer from the options given below:

1. A-IV, B-111, C-II, D-I

b2

. A-1, B-11, C-11I, D-1V
3. A-IL B-III, C-IV, D-1

4. A-II1, B-1V, C-1, D-II

Question Number : 75 Question Id : 3421231617 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1% 1Y &I 11 D1 e Hifoe

Tt 1 T I
I BRUNd dd dagH | 1. | THIU
T JHH < 1L | areft
qdiwes da-a9 11| <ita:

Hamuidied 990 |1V | SERGETaaH
" U U fdhedl § U Tot 3R 1 994 HII;

1. A-IV, B-11I, C-II, D-1I

ogla|w|e

f-2

.A-L, B-II, C-II1, D-IV

3. A-II, B-1II, C-1V, D-1

4

. A-IITL B-IV, C-1. D-II



Question Number : 76 Question Id : 3421231618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Advaita Vedanta which of the following are necessary for rebirth:

A. Existence of Ishwara

B. Immortality of Atma

C. Complete destruction of action

D. Non-destructible impression of action
E. Immortality of body

Choose the correct answer from the options given below:
1. A B, Conly
2.B,C,Donly
3.C.D.E only

4. A. B.D only

Question Number : 76 Question Id : 3421231618 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3gd dard & € I Tl & forg ifard § -

A, SR DI Il

B. 3] BT 3HI

. ®H &1 quf fgm

D. &H &I [ YEHR

E. YRR &I 3[R

A feu e fad el § 4 @8t 3R &l 994 Hiou;

|. HAd A, B, C

2. HIdB.C.D

3. A C.D.E

4. HAdA.B.D

Question Number : 77 Question Id : 3421231619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-T with List-IT

Tkl List IT
HHPCITHET: I | Haz:
AT I | &=

BHHURAFGEUEIa: |11 | 3
TEYHEHREERY, [V | e

Ol |® |~

Choose the correct answer from the options given below:

1. A-I, B-II, C-III, D-IV
2. A-I1, B-1, C-I1I, D-IV
3. A-III, B-IIL, C-1, D-IV

4. A-IV, B-11I, C-II, D-1

Question Number : 77 Question Id : 3421231619 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsiu

T 1 11
FHP Ham H&a: I |gae
ITHAFRI: |

HHUR--GGarFWazr: | 1L | 319a:

HIYHBHEIHERA v. |fsi
A TGU MU f[d&edl H 9 9t 3R &1 999 SIS

1. A-L B-IL, C-IIL, D-IV

olo|w|r

2. A-IL, B-1, C-IIL, D-IV
3. A-IIL B-1I, C-1, D-IV

4. A-IV, B-11I, C-II. D-I

Question Number : 78 Question Id : 3421231620 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match List I with List IT

List I List IT
A | By accepting Pradhana as Absolute Consciousness | L Iﬁﬁ[
B.| By the realization of Atma I WEF%I
C. | By accepting Buddhi as Absolute Consciousness |11 ﬂ@'—ﬁlﬁ ERl
D. | Expert in Vyakarana, Mimamsa and Nyava IV, | UadIUHTO

Choose the correct answer from the options given below:

1. A-II, B-IIL, C-I, D-IV
2. AL B-1, C-I1, D-IV
3. A-IV, B-III, C-1I, D-1

4. A-1, B-1I, C-III, D-IV

Question Number : 78 Question Id : 3421231620 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 1 & 1Y &I 11 D1 e Hifsiu

T 1 T I
T & Gaiw da- ad AFex | L |3
HTHT BT AP R P 1L | 3@idd 5

gf Bl galed a1 dd AFBR | 1L | Wil &
SHTHRUL, HIHEI qUT =01g B a1 | IV. | USaTaHIuR

olo|w|r

1< fU 1Y faeed! # ¥ |t IR &1 994 DI
L. A-IL B-IIL, C-L D-IV
2. ATIL B-I, C-IL, D-IV
3. A-IV, B-IIL C-IL, D-1

4. A-1, B-1I, C-1I1, D-IV

Question Number : 79 Question Id : 3421231621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“Pramadhikaranam” is

l. Prameya

t2

. Pramana
3. Pramata
4. Pramiti

Question Number : 79 Question Id : 3421231621 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

L. UHY
2. YHIO
3. UHIdT
4. gfAfd

Question Number : 80 Question Id : 3421231622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“Data collection™ in experimental science is based on -

|. Upamana pramana
2. Anumana pramana
3. Pratyaksha pramana

4. Aitihya pramana

Question Number : 80 Question Id : 3421231622 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T[T A3 ¥ Data Collection STHTRT E -
1. SUHM TH0 1R

. 3[HM JHI0T R

3. UH& TATT IR

4. Ofcrer gmmor

f-2

Question Number : 81 Question Id : 3421231623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"Pramata pramanam prameyam pramifirityevam chatasrishu vidhasu arthatattvam samapyate.’
This verse is from -

1. Vatsyayana Bhashya of Nvavasutras

2

. Tarkabhasha
3. Tarkasangraha

4. Nyayamanjari

Question Number : 81 Question Id : 3421231623 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“THTAT JHTY gHg giafacdd Iaqy ey sridw gHmed: | g Ufed o8l 98 -
L. AT He Y

 dBHET E

dhdUs ¥

4. AEASR A

[

LS

Question Number : 82 Question Id : 3421231624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



qls8 GdG:" - This can be understood via which Lakshana as per Vedantasara?

1. by Jahat lakshana

2

. by Ajahat lakshana

Ll

. by Jahadajahad lakshana

4. by Gauni lakshana

Question Number : 82 Question Id : 3421231624 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dEdUR & AR WG Cda: - I8 fbd qammde ¢ -
. STgd &u 9
2. 3{SIgd AU

3. Slgauigd AU Y
4, 707 S&um g

Question Number : 83 Question Id : 3421231625 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following principle is attributed to Jayanta Bhatta?
A. Pratibimbavada
B. Tatparyavada
C. Abhihitanvavavada
D. Anvitabhidhanavada
E. Sansargamaryada vada
Choose the correct answer from the options given below:
1. A, B only
2. C,D only
3. B only

4.D. E only

Question Number : 83 Question Id : 3421231625 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

S HE D s SIS 6 -

A UldfarEae dam g

B. dI@ddic & AH Y

C. 3fifgdaragde & A9 Y
D. JAf-aariyyEaG &AM 9
E. YqiagigEG &AM g

- feu U faseut # ¥ FT IR 1 99 DT
1. B A, B
2. $dAC, D
3. Hdd B
4. B9 D, E

Question Number : 84 Question Id : 3421231626 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The knowledge of which of the following are necessarily needed to know a “ghata™ as per
Advaita Vedanta? (According to Vedantasara)

A. Buddhi and the reflected chaitanya in it.
B. Buddhi
C. Reflected chaitanya

D. Pure chaitanya
E. “Ghata™

Choose the correct answer from the options given below:

1. A and E only

[

.Aand D only
3. Aand C only

4. A and B only

Question Number : 84 Question Id : 3421231626 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



3fgd dad H egH & o1l 3 Aa20d Bl § - (JaIR & 3TUR |)
A. 93 3R 39d ufdfeitad 9aa gl oI
B. 9 @I
c. ufafafrad 9dg &l
D. Y A0 Dl
E. ‘°c Bl
i feu T fah el § 9 a1 IR B 99 DIIT;
1. Had ATUTE
2. H9d AT D
3. Had ATdY C

4. Had AU B

Question Number : 85 Question Id : 3421231627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

"Savitarka Samadhi Jnana' as the process of knowledge in Yogadarshana is

A. Identical state of pramata-vritti and prameya

B. Completely differentiated states of pramata and prameya
C. Differentiated states of Sakshi and prameya

D. Identical state of Sakshi and pramata

E. Identical state of sakshi and indriya

Choose the correct answer from the options given below:

1.A, B and E only

I

. A only
3. Aand D only

4. A and C only

Question Number : 85 Question Id : 3421231627 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



I R H Ffddd FAIY JH DT UGATS -

A. THTdI - g1 - UHY &1 Ul &4
B. UHTdI - UHY &1 3= [ =1
C. el - urg o1 fi =g

D. TI&fi - THTI & U =4

E. Tiefl - sfSg I U &g

i fau U fadh el § 9 8T 3R &l 994 Hiflu;
|.Hdd A, B TUTE

2. Dhdd A
3. Hhad AdYUID
4. Had ATUT C

Question Number : 86 Question Id : 3421231628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following can be pramana in Samkhya Darshana?

A. Vritti

B. Gauna-prama
C. Mukhya-prama
D. Pramata

E. Sakshi

Choose the correct answer from the options given below:

1. A and E only

b2

.D and E only
3. Aand B only

4. B and C only

Question Number : 86 Question Id : 3421231628 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



i a2 § UH10T gl Tdhd B |
A g
B. TIT0T JH]
C. % AT
D. UHIdT
E. T1&ft
i feu T fahedl § 9 a1 IR B 99 DIIT;
1. Had ATUTE
2. Had D dUTE
3. Hdd A JUIB

4. Had B 94T C

Question Number : 87 Question Id : 3421231629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LIST II
A [ Manas 1. | Advaita Vedanta
B. | Manas-Ahamkara-Buddhi II. | Yoga
C. | Chittabhumi ITT. | Nyava
D. |Manas-Buddhi-Chitta-Ahankara | IV. | Samkhya

Choose the cerrect answer from the options given below:

1. A-IV, B-11I, C-II, D-I
2. A-IIT, B-1V, C-11, D-1
3. A-1Il, B-1II, C-1V, D-1

4. A-1, B-II, C-III, D-IV

Question Number : 87 Question Id : 3421231629 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AT 1S 1Y &I 11 DT e Hifoy

A1 T 11
A |FEg L |3fgademt
B |mY- R -G I [T
C. Y™ 1L | =g
D.|979] - §fg - T9 - 3EgR | IV, | 5
- fqU 7T g ed! # 9 |et 3R &1 99 BT

1. A-IV, B-111, C-II, D-1
2. A-III, B-1V, C-I1, D-I
3. A-II B-III, C-IV, D-1

4. A-1, B-II, C-IIL D-1IV

Question Number : 88 Question Id : 3421231630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In Tantrayukti, which of the following sequences has been accepted?

1. USRI, SUGY, AU, D
3. AT, UG, A, AU
4. 3T, A(AGT, 3G, JU™

Question Number : 88 Question Id : 3421231630 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



dragfaaal o B fadm! A1 S g -
1. UG, JUGI, U, Sfqes
3. 3R, YA, e, UG
4. JACT, AfAE, 3T, JUGY

Question Number : 89 Question Id : 3421231631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which group of texts, ‘Tantrayukti’ is available?

1. IR UG, GYIUTEdT, 3G, 3PTgead
2. IRBUTGH, HIH, IR, TISurgead
3. T9fd, gRideaad]fd, dhgye, 3URd
4. YR, 3FTg ey, TWhdigdr, AI9]fd

Question Number : 89 Question Id : 3421231631 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dredfeki &1 Jeeid b Ui 1 fireddn g2
1. RS T, GYUTRT, SRR, FTFRed
3. O99fd, gRideaa g fd, dhgyg, SRd

[

4. I, 3Ty, Wb digdr, HIHfd

Question Number : 90 Question Id : 3421231632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Debate through which some one arrives at truth-

1. dlq
2. 9lel
3. fqausy
4. o

Question Number : 90 Question Id : 3421231632 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TrafeI ¥ [T9g &1 941G H3A1 Heddi g -

1. dlg

2. Sled
3. faduar
4. T-uig

Question Number : 91 Question Id : 3421231633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The proper sequence of six-fold Ty Aol s -

A. fTorg
B. U0l
c. ar
D. 4d

E. JHREAT

Choose the correct answer from the options given below:

1.D.A,B.E.C

t-2

DA C B E
3.4, D, B, C.E

4. D, A CE B



Question Number : 91 Question Id : 3421231633 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dreqd ol & ugfae UhRI &1 gl HH © -
A TIF

B. UH[
c. aI|
D. 4fd
E. JARSAT
A feu e fad el § 9 @1 IR &l 99 Dilu;

1. D ABE, C

2.DACBE
3.A. D BC B

4. DA CE,B

Question Number : 92 Question Id : 3421231634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Characteristics of Sutra are

A, S{UIER

B. YR
C. &Y
D. 3Hddd
E. d3idh

Choose the most appropriate answer from the options given below:

1.A,B,C,E only
2.A,B,C,Donly
3.A.B.D.E only

4. B.A.D.E only

Question Number : 92 Question Id : 3421231634 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YA &1 fa=Iand g -
A, 3cUIER

B. Rdq
C. 3RAIH
D. 3Hdd
E. 3P

- feu U fasett # ¥ F1 IR 1 99 DI
1.Hdd A, B.C.E
2. Hdd A, B.C,D
3.%dd A, B, D.E
4. PdAB.A.D.E

Question Number : 93 Question Id : 3421231635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The divisions of “H2", are :
A. Asadharanadharmajanya
B. Sadharanadharmajanya
C. Viparitadharmajanva
D. Vipratipattijanya
E. Vishesharthajanva

Choose the correct answer from the options given below:

1. A, B. Conly
2.A C,Eonly
3. A B.Donly
4. A.D,E only

Question Number : 93 Question Id : 3421231635 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T H AT ¢ -

A, STYRUTEHTY
B. UTYRUYHSTT
c. [AwWiayHs
D. faufauiis=

E. faammis=g

i fu U fad el § 9 @81 IR &l 994 Diflu;
. HAAd A, B, C

2. HAd A, C. E
3. HAdA.B.D
4. HIAdA.D.E

Question Number : 94 Question Id : 3421231636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Kathsa is -

A. ATRIYYE BT F1|

B. §4U& & UldUIG &1 &4
C. AU & Uldured o1 F |
D. 3% dadadl &1 =4|

E. AUg =g

Choose the correct answer from the options given below:

1.A B, C.E only
2.A,B,D, E only
3.A.B.C.,Donly

4. B.C.D.E only

Question Number : 94 Question Id : 3421231636 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



YT E -

A. ARG ST F4|
B. JdU& & UfduIG &l &4|
C. ITRUY & Ulduied &1 4|
D. 3H$ daddl &1 4|

E. MU =)

- feu U fasett # ¥ F1 IR 1 99 DI
1.Hdd A, B.C.E
2. $dd A, B, D, E
3.%dd A, B.C.D
4. PdAB.C.D.E

Question Number : 95 Question Id : 3421231637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following get destroyed in the state of Jivanamukti?

A. Sanchitakarma

B. Prarabdhakarma

C. Sanchivamanakarma
D. Adrishtakarma

E. Ajnatakarma

Choose the correct answer from the options given below:

1. A E only

]

. B, C only

a2

A, Conly

4. B, D only

Question Number : 95 Question Id : 3421231637 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SiIgfad DI ATRATH AT RIS E -

A. URdHH
B. UR&®[HH
C. GigHE &1
D. 3EVHH
E. 3RS

- feu U faded! ¥ FpT IR B 90 HIST:
1. PAAALE

Had B, C

3. BAAA, C

4. P9 B, D

B

Question Number : 96 Question Id : 3421231638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List T with List I

List I List IT

Sanshayah| I | Vyigishukatha

Nirnayah | II. | Svapakshasthapanahinah
Jalpah III. | Avadharanajnatam

olo|w|s

Vitanda IV. | Anavadharanajnatam

Choose the correct answer from the options given below:

1. A-IV, B-11, C-1, D-III

t-2

. A-IV, B-11I, C-1, D-II
3. A-I, B-IV, C-III, D-IT

4. A-IV, B-III, C-1II, D-1

Question Number : 96 Question Id : 3421231638 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AT 1S 1Y &I 11 DT e Hifoy

T T 11
Im: | L | faferigdmy
fofg: | 1. | e
O | I | SEuRuRe
faaust| v, | eFasRURITH

olo|w|»

[l

A 13U U f[d& el H 9 It 3R &1 9949 SIS

1. A-IV, B-11, C-1, D-III

f-2

. A-IV, B-1II, C-1, D-II
3. A-L, B-IV, C-III, D-II

4. A-1V, B-111, C-11, D-1

Question Number : 97 Question Id : 3421231639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Western psychoanalytic approach does not focus on which of the following in the context of
ancient Bharatiya literature?

1. Unconscious feelings and motives of the author.
2. Unconscious feelings and motives of the characters.
3. Application of sexual development condition on characters

4. Prevalent social structures.

Question Number : 97 Question Id : 3421231639 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



U YR Wifed & "e 1 uree Tefaeryor uiafy 5 o ¥ g W digd =81 8
. TGP B 3 UGN Ud Hlod

Ul 1 3 HIgR Ud Hasd

3. 96 W I - farg "« aRfeygl o1 3uan

4. YT QrTfoie g

f-2

Question Number : 98 Question Id : 3421231640 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which Western theory lays a significant emphasis on “Constructedness’?

l. Post-structuralism

t2

. Marxism
3. Feminism

4. Ecocriticism

Question Number : 98 Question Id : 3421231640 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

GL| U S 91 Uyl gid “Constructedness” TR HANTEH g cdl 36".’

1. FR-TEAMIG
AT aTS

3. dRlde

4. 3l - GHTAEHAT

f-2

Question Number : 99 Question Id : 3421231641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which Western theory argues that ‘ideology’ play a significant role in deciding upon the nature of
literature.

1. Philology
2. Psychoanalysis
3. Marxism

4. Structuralism

Question Number : 99 Question Id : 3421231641 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

% & &Y YR H [TIRYRT &1 UHE Ued oidl ¢ I Ul AFdl g Ui [Geid |
1. HTSTRIR
> HANGZIYU]
3. Araydrg
4. Y3g-1dIg

Question Number : 100 Question Id : 3421231642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Post-modern approach to interpretation of texts doest not lay focus on which of the
following?

1. Fragmentation

I

. Inter-textuality

L

. Questioning of the meta-narrative

4. Acceptance of traditional interpretations

Question Number : 100 Question Id : 3421231642 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FR-3MYMHdHdrare H Uréd- YT &1 ARAT & 994 Y H U fhy W o 71 fear siarg?
1. fadsq

f-2

. 3R-UT&Idl
3. HeT - RfEd WYY IaHI
4. URIR S TRAH] &1 Wipid

Question Number : 101 Question Id : 3421231643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct order in which the following Marxist theory related thoughts have emerged?
(from the beginning to the end)

A. Materialism and ownership of production and distribution systems.
B. Class struggle leading to alienation.

C. The Frankfurt School

D. Complex views of the "Superstructure"

E. Emphasis on intersectionality.

Choose the correct answer from the options given below:
1.A,B,C,D,E
2.8 C,BE. D
3. B, A D C.E

4. C.58B.D.E

Question Number : 101 Question Id : 3421231643 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



nidare Yeel (9 [9aRl & Sas IR ifsd Sifed |

A. UgIddIg Ud Iadre- Ud faavur o2l ok gyl
B. 97 - YN Ud 3D HRUT 2{cliTd

c. e Ipd

D. Superstructure eefl faud YRR

E. Intersectionality UX dcf

i fu U fad el § 9 @81 IR &l 994 Diflu;

1.A,B.C.D.E

2.A,C,B,E,D
3.B,A,D,C,E

4 C,AB.D.E
Question Number : 102 Question Id : 3421231644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the followings are applicable to Post-structuralism?

A. Reading a text differently from what the author intended.

B. Belief in structural disunity of the text

C. Multiplicities of meaning

D. Fragmented analysis of texts

E. To look for contradictions and contlicts present in the language of analysed texts.

Choose the correct answer from the options given below:

1.B, C,Donly

B

.C,D. E only
3.A.B.C.Donly

4.A.B.C.D.E only

Question Number : 102 Question Id : 3421231644 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SR-TXTTdIG 4 Heftrd (5 & 9 3fd fabcdt o1 |

A. Tl uie & dad & 1™ Y 3= | g
B. UT&Y H 3idfHigd IRaTdH G- 3Gl H [d4r
C. 3B

D. T4l UTsy-ar il &1 Wisd YR U f[a2ayu

E. {64! urea-aridl & [a<eyul H 3D HINT H g5 Ud [aRIUTHN Bl gl
A fau U fadedl § U ¥8T 3R &1 994 DI
1.$ddB. C,D

2. HAd C. D, E
3. BAA A, B, C.D
4. HIAA.B.C.D.E

Question Number : 103 Question Id : 3421231645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-T with List-IT

LISTI LISTII
A | Defence mechanism I | Michel Foucault
B. | Grand narratives II. | Ferdinand de Savssure
C. | Meanings are arbitrary. [T | Jean-Francois Lyotard
D. | "Discursive practices’ of power | IV. | Sigmund Freud

Choose the correct answer from the options given below:
1. A-I. B-II, C-III, D-IV
2. AL, B-1, C-11, D-1IV
3.A-TIV. B-IIL, C-I1, D-I

4. A-IV, B-1, C-1I, D-III

Question Number : 103 Question Id : 3421231645 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AT 1S 1Y &I 11 DT e Hifsy

1 T 10
A |QRET-F L | e gl
B. |wem e I |eeR
c. |31 aU=s Bl 111 | 1 s e diers
D. | S&¢i srEvd wurd | v | frHE wigs
A< QU U [qedl T 9 W1 3R &1 9 DIfSIT:

1. A-1, B-I, C-III, D-1IV
2. A-III, B-1, C-II, D-1IV
3. A-IV, B-1II, C-11, D-1

4. A-IV, B-1, C-II, D-III

Question Number : 104 Question Id : 3421231646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LIST I LISTII

Roland Barthes I | State Ideological Apparatus

Stephen Courtois | II. | The Death of the Author

Jacques Derrida | III. | The Black Book of Communism

ofla|lw|

Louis Althusser | IV. | On Grammatology

Choose the correct answer from the options given below:
1. A-1, B-II, C-III, D-IV
2. A-I, B-III, C-IV, D-II
3. A-I B-II, C-IV, D-III

4. A-II, B-1II, C-IV, D-1

Question Number : 104 Question Id : 3421231646 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AT 1S 1Y &I 11 DT e Hifoy

1 GEipi
i and 1 |8 &1 9aile oA

ERilzE | & Qéié II. | The Death of Author
é IS ITI. | The Black Book of Communion

SNEIRSEY IV. | On Grammatology

A fou U fasedl # U Igt 3R &1 994 DIfoIU:

1. A-1, B-1I, C-III, D-IV

=N e B

2. A-L, B-III, C-IV, D-II
3. A-L, B-1I, C-1IV, D-III

4. A-II, B-ITI, C-IV, D-1

Question Number : 105 Question Id : 3421231647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

From which mountain did Hanumanaji fetch the Sanjivini medicine?

1. Vindhya

]

. Dronagiri
3. Trikuta

4. Malava

Question Number : 105 Question Id : 3421231647 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gIall fhd Tdd I Toila- g1 @ 42
1. faen
2. SR

3. Fge

4. Holg




Question Number : 106 Question Id : 3421231648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which rishi had cursed Tadaka?

1. Valmiki

(]

. Gautama
3. Agastva

4. Vishwamitra

Question Number : 106 Question Id : 3421231648 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

dred] @l Tl B &1 Y19 e U
1. dreHifd
2. TidH

3. TRA

4. fayife=

Question Number : 107 Question Id : 3421231649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who was the father of Ravana?

|. Mandeha

[

. Pulastya
3. Riksharaja

4. Vishrava

Question Number : 107 Question Id : 3421231649 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



19U & U1 &1 1 =18 Y12

1.HeE

i

3. B &R
4. fayar

Question Number : 108 Question Id : 3421231650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following events from the Ramavana chronologically?
A. Sampati's narration of how his wings got burnt.
B. The slaying of Trishira
C. Rama's protection of Vishwamitra's vajna
D. Bharata's journey to the forest and his overnight stay at Shringaverapura
E. Anasuya gives gifts to Sita
Choose the correct answer from the options given below:
1L.E. D E BA
2 E:D.CAB
3B E DA

4.E,D,C,B,A

Question Number : 108 Question Id : 3421231650 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A0 &1 FEfeRgd g {69 &0 1 9ied g3 (3IRY J 3id dd)

A. G BT 30 UGl & Sl &l DT YA
B. BRRI®13Y

C. I g1 [aYIfrs & a3 D1 &

D. WRd P IIET 3R YgavqR 1 A

E. 3941 &1 Yidl &1 3UGR &l

A fau U fadedl § U ¥8T 3R &1 994 DI

1.C,D.E.B.A

2.E,D,C,A,B
3.C,B,E,D,A

4 E.D.C.B.A
Question Number : 109 Question Id : 3421231651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Organize the following events of Ramayana chronologically (starting from the earliest)

A. The slaying of Viradha

B. The slaying of Khara and Dushana
C. The slaying of Maricha

D. The slaying of Vali

E. The slaying of Meghanada

Choose the correct answer from the options given below:

L DA BE

B

D CoABLE

3B D E

4.A. B, C, D, E

Question Number : 109 Question Id : 3421231651 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o ¥ Fgiarad geqn oy oo O "idd g92 (IRY T 3id db)

A faydray

B. TR - YU [ 94
C. AR ®1dY

D. dlcil ®1dY

E. HYAIG 99

i fu U fad el § 9 @81 IR &l 994 Diflu;

.G, DA B FE

2.D,C.ABE
3.C,B.A,DE

4. A,B,C,D,E

Question Number : 110 Question Id : 3421231652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following events actually occurred in context of the meeting of Rama and Bharata
at Chitrakuta?

A. Lakshmana doubted Bharata's intent upon seeing him with an army.

B. When Bharata reached Chitrakuta, Rama, Sitaji and Lakshamana were sleeping.
C. Bharata met Bharadwaja before reaching Chitrakuta.

D. Bharadwaja welcomed Bharata and his army.

E. Bharata crossed Mandakini river flowing before reaching Chitrakuta.

Choose the correct answer from the options given below:

1. C, D only
2.C,D,E only
3.A.C.D.E only

4. A.B. Conly

Question Number : 110 Question Id : 3421231652 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



oA e ¥ 1RA-IM ey & devf O o I 9o 9Rad d gfdd gs di

A. U 3R IAD! Y1 DI SGDHR ALY Bl Ud D 3539 TR U2 g1
B. oI Hd fad e ugd dd 4R1H, Hidreil 9 d&qorst 9 3 U
c. fede 31 ¥ Jd Wd WRgs g 9 firel|
D. ¥gTol i = UXd Ud 3H1 Y1 WrTd fha|
E. [oAdhe T ugd R A Halfdh- ¢ IR Bl
d feu U fqdh el & 9 F8T IR &1 98- BT
1. $dd C. D
2. %dd C, D, E
3. HAd A. C,D.E

4. HAA A, B, C

Question Number : 111 Question Id : 3421231653 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per the initial part of Valmiki Ramayana King Dasharatha performed Yajna to attain oft-
springs. Which of the following are related to this fact?

A. The yajna was performed by Rishyashringa.

B. In the vajna assembly Devatas informed Brahmayji about the evil deeds of Ravana.
C. Prajapatva Purusha appeared from the Agni kund.
D. He provided rice pudding.

E. Bhagavan Vishnu manifested himself in four forms as Dasharatha's sons.

Choose the correct answer from the options given below:

1. A, C,D only

2.C,Donly

3.B,C,Donly

4. A.B.C,D, E only

Question Number : 111 Question Id : 3421231653 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BB d AR & JRUEIR Aol GIRY Y[ W &l 331 ¥ 79 $ed ¢ | Fafarad
Y oY 7 39y 44s o2

A. T3 HETHT YT gRT Har™T 47|

B. T3-9Y1 1 Qi cadrsit 3 Sgisll &I AqU & Sl bl S|
c. 3AdH<S U USUY Gy Y gu|

D. 394 cdfHiHd @R urd g3 |

E. Y9 [d9] IR W=l H Udhe gl Aol GIRY & UF & |

- feu U faseut # ¥ @1 IR &1 99 DI
1. ®dd A, C, D
2. HIAC. D
3. $ddB.C.D

4. Hdd A.B.C,D.E

Question Number : 112 Question Id : 3421231654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT

List I List IT
A | The wedding of Sita and Rama I. | Sundarakanda
B | Arrival of Bharata at Chitrakuta II. | Aranyvakanda
C. | The episode of Jatayu III. | Balakanda
D | Meeting of Hanumanaji with Surasa | IV, | Avodhvakanda

Choose the correct answer from the options given below:
1. A-1, B-II, C-III, D-IV
2. A-III, B-IV, C-II, D-I
3. A-IV. B-IIL, C-I1, D-I

4. A-II, B-1II, C-1, D-1IV

Question Number : 112 Question Id : 3421231654 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AT 1S 1Y &I 11 DT e Hifoy

T 1 L eifi
A |diar -39 faarg L |geidie
B.|¥Rd®I TApc ™1 | IL | 3RUTHIZ
C. | ST &1 U Ul EINGAES
D. |g3HH ol &1 G4 4 He | 1V, | spirersdts
i QU T fadh el # 9 |El IR DI 99 BifIT:

1. A-1, B-I, C-III, D-1IV
2. A-III, B-1V, C-I1, D-I
3. A-IV, B-1II, C-11, D-1

4. A-II, B-III, C-1, D-IV

Question Number : 113 Question Id : 3421231655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match List I with List IT

ListI List IT
{(Parent) (Child)

Sunayana I | Subahu

Bharata I1. | 5ua

Shatrughna | IIT. | Pushkala

=N el o

Lakshmana | IV. | Chandraketu

Choose the correct answer from the options given below::
1. A-IIL B-1, C-II, D-IV
2. A-IIL B-IIL C-IV, D-I
3. A1l B-1, C-III, D-IV

4. A-II, B-1II, C-1, D-IV

Question Number : 113 Question Id : 3421231655 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AT 1S 1Y &I 11 DT e Hifoy
¥ 1 (ATl - e | ¥ ot

A |gET L |gaig
B. [+d 1L (g
c |=m . | qema
D. |d&AT V. |dsahg

ATd fu v f[dsh el & 9 ggl 3R &1 99 B
I. A-IIL B-I, C-IL, D-IV
2. A-IL B-IIL, C-IV, D-I
3. A-L B-L, C-IIL, D-IV

4. A-IL, B-IIL, C-1, D-IV

Question Number : 114 Question Id : 3421231656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As per the Mahabharata, who is the mother of serpants

1. Vinata
2. Dit1
3. Romaharshini

4. Kadru

Question Number : 114 Question Id : 3421231656 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HETHRANYR YUl &1 911 1 g2
. faar
2. fafd
3. Ao

4. %%



Question Number : 115 Question Id : 3421231657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Janamejaya's grandfather was

1. Yudhishthira

]

. Abhimanyu

3. Paraikshita

e

. Arjuna

Question Number : 115 Question Id : 3421231657 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SHHST & [UarEg &F 32

Question Number : 116 Question Id : 3421231658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the Mahabharata. which parva contains the story Ramayana in its abridged form?
1. Sabha parva

2. Adi parva

L8]

. Vana parva

4. Udyoga parva

Question Number : 116 Question Id : 3421231658 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TRIHRA & 64 Ud T AU &1 |iE quH g2
L g1 ad

3G ud

3.990d

4. 39T Ud

f-2

Question Number : 117 Question Id : 3421231659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which parva immediately precedes Swargarohana parva of the Mahabharata?

1. Ashwamedhika

t2

. Ashramavasika

L

. Mahaprasthanika

4. Mausala

Question Number : 117 Question Id : 3421231659 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TRIHRA H TRV Ud ¥ &l d & |l Ud g2
. SHfS

. 3MYHAD

3. AT

4. 7194

—

f-2

Question Number : 118 Question Id : 3421231660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Bhishmajanma, Shishupalavadha, Shikhandijanma. Geeta Upadesh - Identify the right sequence
of parvas corresponding to these events in Mahabharata.

A. Sabha Parva
B. Bhishma Parva
C. Adi Parva

D. Udyoga Parva
E. Aranya Parva

Choose the correct answer from the options given below:
1. A,C.D.B
2:B. C: D E
3. 0,E.D.B

4.C,A,D,B

Question Number : 118 Question Id : 3421231660 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o, Rrurcay, RRgvdt 4, ISR - 3 e HgTHRd & &I U Udl § hHs:
fAyerdi g2

A. GUTd

B. Hiwud

C. 3fifeud

D. 394
E. 3RUUq

A feu T fawedl § 9§ 3T IR B 99 DIIT:

1LAC.D. B

2 B.C.PE
3.C,E.D,B

4. C,A,D,B

Question Number : 119 Question Id : 3421231661 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following female characters in the sequence in which they appear in the story of
Mahabharata.

A. Hidimba
B. Gandhari
C. Satyavati
D. Draupadi
E. Uttara

Choose the correct answer from the options given below:

1.C.B, A DE

b2

B D AE
3.B,C,D,AE

4.C. DB AE

Question Number : 119 Question Id : 3421231661 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HETHRA & 14 WU {69 &1 H HeIHRd &I DU B 3F 9-1d 57

A, fgfsmn
B. TR
C. gdddl
D. glual
E. 340

A feu U fashedl § 9 ol IR B 99 HIIT:

1.C,B, A, D, E

I~

BB AE
3.B,C,D,AE

4.C,D,B,AE

Question Number : 120 Question Id : 3421231662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who among the following have provided a commentary on the Mahabharata?
A. Arjuna Mishra
B. Narayana
C. Balabhatti
D. Devabodha
E. Nilakantha
Choose the correct answer from the options given below:
1. A,B, C,Donly
2.B,C,D. E only
3.A.B.D. E only

4. A C,D,Eonly

Question Number : 120 Question Id : 3421231662 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

HETHRA & APIPR T -
A. 3o Ty

B. AU

C. JTaufg

D. ¢ddly

E. HId®Us

i feu U fasedl # U gt 3 &1 994 I

.$dd A, B.C. D

2. $9d B, C.D,E

3. Hdd A, B, D, E

4. HAd A.C.D.E

Question Number : 121 Question Id : 3421231663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who among the following served as Commander-in-Chief for Kauravas in the Mahabharata war?

A. Bhishma

B. Shakuni

C. Karna

D. Dronacharya
E. Shalya

Choose the correct answer from the options given below:
1.A,B.C.D, E only
2.A.B.D.E only
3.A.C,D,Eonly

4. A, C,D only

Question Number : 121 Question Id : 3421231663 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

99 O 9 &1 Ug4Rd g H ®Rdl & I-mafd -
A, 4y
B. APH
C. ®HUf
D. GIUMER]
E. 2
4 fau U fasedl § 9 ¥8T 3R &1 994 DI
1. hdd A, B,C,D. E
2. Hdd A, B, D, E
3. Bdd A, C,D. E

4. PAdAA. C.D

Question Number : 122 Question Id : 3421231664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-T with List-IT

LISTI LISTII
A | Vidura Niti I | Shanti Parva
B. | Yudhishtira-Yaksha Samvada II. | Udvoga Parva
C. | Bhagavadgita I | Vana Parva
D. | Bhishma's upadesha to Yudhishtira about statecraft | IV. | Bhishma Parva

Choose the correct answer from the options given below:

1. A-III, B-IV, C-1, D-II

b2

. A-II, B-III, C-IV, D-1
3. A-IV, B-II, C-11, D-I

4. A-1IV, B-1II, C-1, D-II

Question Number : 122 Question Id : 3421231664 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1% 1Y &I 11 D1 e Hifoe

A1 A 11
A | T | efeed
B. |giUfER - g& darg . |3erud
c. | wagEr 1. | g99d
D. |GRIMR &1 e @1 Ueifd R Iue | IV, | Hiqud
-1 feu U faseutl # I HEt 3R &1 994 DI

1. A-III, B-1V, C-1, D-II

2. A-I1, B-IIT, C-1V, D-1

3. A-IV, B-III, C-II, D-1

4. A-IV, B-11I, C-1, D-II

Question Number : 123 Question Id : 3421231665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are used in neutral gender?

1. T, AL 1=, §
2. %, AT, TRz, 9
3. U, A0, g, IR

4. THH, 0., &, TdR:

Question Number : 123 Question Id : 3421231665 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafefad d qduaiag U g -
5., A0, T@R:. ¥
THH, AL g, IR

4. THH, 78, g, IdR:

—

[~

L

Question Number : 124 Question Id : 3421231666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are only Atmanepadi root forms?
21, @Y, forg, A, Uq

- HTY, A7, 2, T, T

T, 2, Y A, B

4. %8, BB, 7L, 7Y

[—

f-2

Lad

Question Number : 124 Question Id : 3421231666 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FafaRad § Had SMemuel Uiqi & -
1. 319, Y, ferg, a1, Uq
2. 1Y, A, M. 1, 24
4.4, 38, a1, T, Y

Question Number : 125 Question Id : 3421231667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following sentences is correct?
1. eI ot 7Efd|
2. gHgTd YT 7|
3. QU g AEfd|
4. QT g Tad|

Question Number : 125 Question Id : 3421231667 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafad « Jgt area @ -
1. e gyt mefd|
2. FHgTd gYi AT |
3. gyl gy AT |
4. i g1 H2d |

Question Number : 126 Question Id : 3421231668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The non-declinables which are respectively indicative of Samuchchaya, Avastha, Sambhavana and
Sadriya are-

A.Va

B. Kada

C. Prayasah
D. Kim

E. Eva

Choose the correct answer from the options given below:

1A, C,D.E

t-2

AL B E D
3B D.CA

4.E,C,D,A

Question Number : 126 Question Id : 3421231668 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y=, AT, RG] 3R e & HHL: D AT G -

A dl
B. ®al
C. UTI:
D. b
E.Ud
i feU U faseal # ¥ gt I &1 994 HIfIL:
1.A.C.D.E
2.A.B,E,D
3.E,D,C,A
4.E.C.D.A

Question Number : 127 Question Id : 3421231669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In dwitiva Vibhakti, the forms of Pratipadika ‘Adas’ are -
A, Aman
B. Amauni
C. Amum

D. Adah
E. Amu

Choose the correct answer from the options given below:
1.A,CE
2.B.D.A
3CE A
4.D.E.B

Question Number : 127 Question Id : 3421231669 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

3feq uifaufes & fgdian faufdd H FusAd § -

A 3HHA
B. WA
C. A
D. 3g:
E. 3

4 fau U fasedl § 9 ¥8T 3R &1 994 DI

. W G 2

2.B,D, A
3. EA

4.D,E,B

Question Number : 128 Question Id : 3421231670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The indicators of Karta. Karma, Karana and Apadana are respectively-

A. SgddHH
B. {UL:
C. [

D. HIY b dHH
E. Jid-4:

Choose the correct answer from the options given below:

1.C,A. B.Donly
2.B,C, D, E only
3.C.A.D, B only

4. C.D,B.Aonly

Question Number : 128 Question Id : 3421231670 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

@i, HH, BT 3R 3(UIGH DRD & Ybdd § HHT: -

A. SRdaHH

B. 30T:

C. [d:

D. UYHdHq

E. H:

i feU U faseal # ¥ gt I &1 994 HIfIL:

|.Hdd C.A.B.D

2. HddB.C.D.E

3. Hdd C.A.D.B

4. HddC.D.B. A

Question Number : 129 Question Id : 3421231671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are Halant-Strilinga words?

A. TR
B. Heq
c. uRug
D. 3R
E. Hyq

Choose the correct answer from the options given below:

1. A, B, Conly

]

A, C.Donly
3.B,D, E only

4. C.D,E only

Question Number : 129 Question Id : 3421231671 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A. TRq
B. Heq
C. uRug
D. 3R
E. Hdq

I feu U faswhedl § 9 ol IR B 99 HIIT;
|.$dd A, B, C

Hdd A, C.D
3. hddB.D.E
4. PIAC.D.E

[

Question Number : 130 Question Id : 3421231672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-T with List-IT

LISTI LISTII
A | Grahanam I. |Eta
B. |Karta II. | Lyut
C. | Chintitah I |Sanac
D. | Asinah IV. | Trich

Choose the correct answer from the options given below:

1. A-II1, B-1, C-IV, D-II

b2

. A-IL B-1V, C-1II, D-1
3. A-IL, B-1IV, C-I, D-III

4. A-1IV, B-11, C-1, D-III

Question Number : 130 Question Id : 3421231672 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1% 1Y &I 11 D1 e Hifoe

&1 | g
Teud |1 =
& |||

fafaa: | oL | =g
SE: | IV | 9

- f6u U A edl § U Tot 3R 1 994 BIIU;

1. A-IIT, B-1, C-IV, D-II

Slo|l®|#

2. A-II, B-IV, C-III, D-1
3. AL B-1V, C-1, D-ITT

4. A-IV, B-11, C-1, D-III

Question Number : 131 Question Id : 3421231673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-T with List-IT

LISTI LISTII
Nirmaksikam 1. | Karmadharava
Pttambarah II. | Tatpurusa

Chandramukham | 1T | Avyayibhdva
Bhatabalih IV. | Bahuvriha

ofla|w|w

Choose the correct answer from the options given below:

1. A-III, B-IV, C-1, D-II

b2

. A-III, B-IV, C-I1, D-1
3. A-IV, B-III, C-1, D-II

4. A-IL B-1, C-II1, D-IV

Question Number : 131 Question Id : 3421231673 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1% 1Y &I 11 D1 e Hifoe

T 1 I
fyrifa@m| 1 | @Ry
didret: | IL [ddey
e | 1L | sfedtya
Yaafa: |1V | dgdile

A U U 9 edl § U Jot IR 1 I994 HIIT;

1. A-IIT, B-IV, C-1, D-II

Clo|w|*

-2

- A-IIIL B-1IV, C-II, D-1

3. A-IV, B-II1, C-1, D-II

4. A-IL, B-1, C-III, D-IV

Question Number : 132 Question Id : 3421231674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-T with List-IT

LIST1I LISTII
A | Harthar and Bukka 1. | Chanakya
B. | Shivap II. | Sant Ravidasa
C. | Meerabai 1T | Samartha Ramdasa
D. | Chandragupta Maurya | IV. | Vidvaranva

Choose the correct answer from the options given below:

1. A-IV, B-111, C-II, D-I

b2

. A-IL, B-TII, C-1V, D-I
3. AL B-IL C-III, D-IV

4. A-1IV, B-1II, C-1, D-II

Question Number : 132 Question Id : 3421231674 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1% 1Y &I 11 D1 e Hifoe

A1 g 11
gReIed gl | 1 |0
[EIGIE] I |¥a Aders
HRrare 111 (5 e
dE@Ey |1V | feemey

A U U 9 edl § U Jot IR 1 I994 HIIT;

1. A-IV, B-11I, C-II, D-1I

Clolw|*

-2

. A-II, B-III, C-IV, D-1

3. A-I B-IL C-IIL, D-IV

4. A-IV, B-111, C-1, D-II

Question Number : 133 Question Id : 3421231675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-T with List-IT

LISTI LISTII
A | Jhulelal [. | Maharashtra
B. | Mirabai II. | Sindh
C. | Basavanna [T | Karnataka
D. | Tukaram IV. | Rajasthan

Choose the correct answer from the options given below:

1. A-1, B-1IV, C-III, D-TI

b2

.A-IL B-1V, C-1, D-IIT
3. A-II, B-1IV, C-1I1, D-I

4. A-II1, B-1V, C-1, D-II

Question Number : 133 Question Id : 3421231675 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT 1% 1Y &I 11 D1 e Hifoe

T = 11
T | 1 [HERE
Hhmars | 1 | Ty

|=gg | . | Foies
| TERE| V. [IeH

A U U 9 edl § U Jot IR 1 I994 HIIT;

1. A-I, B-IV, C-III, D-II

SIRIEIE

-2

. A-IL, B-IV, C-L, D-IIT

3. AL B-1IV, C-II1, D-I

4. A-III, B-1V, C-I, D-II

Question Number : 134 Question Id : 3421231676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following chronologically (from earliest to latest):
A. Narayana Guru
B. Guru Nanak
C. Narsi Mehta
D. Thiruvalluvara
Choose the correct answer from the options given below:
1.D.B.A.C
2B D CA
BB CA

4.B,D,A,C

Question Number : 134 Question Id : 3421231676 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

99 &1 HIAD IR (T Jgdl) Ydids Hi |

A ARAV TR=
B. & A&

C. Yl g
D. fFdR

A fGu U fadedl § O ¥8T 3R &1 994 DIfoIu:

1.D,B, A, C

2B D C A

3P, B, A

4.B,D.A,C

Question Number : 135 Question Id : 3421231677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following chronologically (from the earliest to the latest):

A. Raja Bhoja

B. Rana Pratap

C. Shivaji

D. Chandragupta Maurya

Choose the correct answer from the options given below:

l.A.BC. D

t2

DA B, C
3:D,B,AC

4.D.C.B.A

Question Number : 135 Question Id : 3421231677 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

99 &1 HIAD IR (T Jgdl) Ydids Hi |

A. TSI HIS
B. 101 Udly
c. fRrarsit
D. dd 91
1 fGU U fasedl § U ggT 3R &1 904 I

1..A,B,C.D

2. DA B C
3P, B A

4.D.C.B.A

Question Number : 136 Question Id : 3421231678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The term “bhag™ in Bhagwan includes which of the following?

A. Aishwarya and Dharma
B. Inana and Vairagya

C. Yash and Shri

D. Political power

E. Pride

Choose the correct answer from the options given below:
1. A, B. Conly
2.B.C.Donly
3.C.D.E only

4. E, A, B only

Question Number : 136 Question Id : 3421231678 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SHITA § 4T I T 2T 82
A UygUd o
B. I Ud @Y
c. g ud 4
D. ISHIdE ldd
E.qq
4 feu U fasedl § 9 ¥8T 3R &1 994 DU
1. HAd A, B, C
2. HFd B, C.D
3. HAd C. D, E

4. PAAE. A. B

Question Number : 137 Question Id : 3421231679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The term “adhyatma™ implies which of the following?

. Knowledge of God

t2

. Knowledge of Atma
3. Knowledge of good and bad

4. Knowledge of technology

Question Number : 137 Question Id : 3421231679 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<3 U ] IR g2
1. God Heitft I

3T Tava S I

3w - W HIIHE

4. dbHiD BT A

2

L

Question Number : 138 Question Id : 3421231680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following comes closest to explaining “Dharma™?

1. Written rule

[

. Commandment of a person
3. A fixed and blind practice
4. Natural responsibility

Question Number : 138 Question Id : 3421231680 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



e T 9 1 1 fadheq <ol & S U Hdbead g2
1. fafaa fam

o I 316

TP [T SerIHom

4. WYId® FWReAd

f-2

L8]

Question Number : 139 Question Id : 3421231681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tulasidasa, Ravidasa, and Kabir - all these Sants belonged to which Sampradava?

|. Ramananda
2. Shankaracharya
3. Guru Nanak

4. Natha

Question Number : 139 Question Id : 3421231681 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Jadiery, heReY Ud Ader - 7 gl fog duey d ddg 4o
1. IHFG
RG]

TE AFS

f-2

L

4.

Question Number : 140 Question Id : 3421231682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Rana Sangram Singh and Rana Pratap are associated with which area?

1. Mewar
2. Marwar
3. Bhoja
4. Brija

Question Number : 140 Question Id : 3421231682 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks :

0T GuTH g Ud 01 Uard 5y &F O gdg 32
1. /IS
2. RAIS

3. HISl
4. qv]

Sub-Section Number : 2
Sub-Section Id : 34212365
Question Shuffling Allowed : No

Question Id : 3421231683 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension

O King! when the king follows Dharma and it rains on time, then it results in prosperity. Since
the king shapes the time, he is known as "Yuga".

The king gives birth to all the living and destroys them as well. If he follows Dharma, he is the
life-giver. Else he is the destroyer. When the king turns lazy, his wife, children. relatives and
friends fall into sadness. The Creator has created the “powerful king” specifically to protect the
weak.

O King! The gaze of a weak person, of a muni, and of a poisonous snake are unbearable. Thus,
you should never torment a weak person. The dynasty which gets destroyed by their anger can
never be rejuvenated as its destruction is complete. Thus, you should never be driven by ego
anchored in your power, and should never try to exploit the weak, because I fear that just as the
fire burns its sustainer — the wood, likewise the eves of the tormented can destroy you. When the
weak and the helpless get falsely implicated for crimes which they never committed, their tears
destroy the progeny and the wealth of the accuser. A place where the weak gets destroved and
remains unprotected, in such a place the tormenter is destined to get severe punishment.



Sub questions

Question Number : 141 Question Id : 3421231684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In the above prose -

1. The attributes of the king are mentioned.

[

. The flaws of the king are mentioned.
3. The strengths and weaknesses of the king, and the tormenting of the weak is mentioned.

4. The tormenting of the weak is mentioned.

Question Number : 142 Question Id : 3421231685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tormenting and exploitation of the weak and the miserable-

A. Is a valid way to earn money.
B. Results in the destruction of the king due to the gaze of the weak and the miserable.
C. Yields infamy which destroys king's progeny and wealth.
D. Results in king's destiny which is laden with severe punishment.
E. Results in strengthening of the king.
Choose the correct answer from the options given below:

1.A. B, C,Donly
2.B,C,Donly
3.C.D.E only

4. E, A, B only

Question Number : 143 Question Id : 3421231686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The laziness of a king is the cause of sorrow of his-

A, wife.
B. children.
C. relatives.
D. friends.
E. ministers.
Choose the correct answer from the options given below:

1.A, B.D, Eonly
2.A,C,D,E only
3.B,C,D. E only

4. A B, C,Donly

Question Number : 144 Question Id : 3421231687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

When the king follows Dharma
A. It rains on time.
B. The crops get ready in time.
C. The lives of citizens are protected.

D. Weak persons are protected.
E. Powerful gain even more power.

Choose the correct answer from the options given below:

1.A B, C,E only
2.A,C,D, E only
3.B.C.Donly

4.B,C,D.E only

Question Number : 145 Question Id : 3421231688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The king is the

A. Founder of Yuga.

B. Follower of Adharma.
C. Destroyer of life.

D. Life-giver.

E. Powerful.

Choose the correct answer from the options given below:

1. A, C,D, Eonly
2.A,B,C,Donly
3.A,D,B,E only

4.A,.B,CD.E

Question Id : 3421231683 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 3421231684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 142 Question Id : 3421231685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 143 Question Id : 3421231686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 144 Question Id : 3421231687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 145 Question Id : 3421231688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Id : 3421231689 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension



When people collectively go around begging, then one day for sure they destroyv their king. If a
king. driven by greed or desire, rejects the prayers of a weak and helpless person, and snatches
away his property, then be assured that his destruction is near.

A state where the evil roam around doing atrocities unabashedly is regarded as one where
Kalivuga dominates. In contrast. a state where the king punishes the wicked. i1s one where
prosperity blooms everywhere.

A king’s Dharma includes eating only after distributing the food to one’s dependents, not
disrespecting one’s ministers, and suppressing those who are arrogant on account of their power.
A king’s Dharma requires him to protect citizens, and punish the criminal even if the crime was
committed by his son. Protecting the nation, eradicating the dacoits. and being victorious — all
these are Dharma for a king. It is required of a king to punish even his dearest if the person has
committed a crime through his acts or words.

The king should take care of his refugees as he takes care of his own sons. He must ensure that
Dharma is not violated. Consider that the king is practicing Dharma if his citizens give up
attachment and enmity, engage in Yajnas and give abundant dakshina. It is the king’s duty to
malke the helpless, the miserable, the elderly, and orphans happy. to make more friends, to destroy
his enemies, to respect the wise, to follow the truth, to honour guests and to nourish his
subordinates.

Such a king remains happy in this world as well as in the other world. A king is like Yama as he
punishes the wicked, and like Parameshwara for followers of Dharma if he favours them. He is
capable of administrating if he keeps his senses in control, else he succumbs to his own
limitations.

Sub questions

Question Number : 146 Question Id : 3421231690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The king is able administer of his state -

1. When he exceeds his limits.

t2

. When he keeps his senses in control.

L

. When he punishes wicked people.

i

. By wiping off the tears of the weak.

Question Number : 147 Question Id : 3421231691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



For whom is the king like the Parameshwara?

1. For persons taking his refuge.

t2

. For wicked people.

L

. For people following Dharma.

4. For his guests.

Question Number : 148 Question Id : 3421231692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is not a king's Dharma?

1. Protecting refugees like his son.

2. Pardon his son's erimes.

L

. Respect his ministers.
4. Not to allow the violation of Dharma.

Question Number : 149 Question Id : 3421231693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The king's destruction is certain -

1. When he destroys the wicked.

t2

. When he controls those who are arrogant because of their power.
3. When he illegitimately snatches away the property of the poor.

4. When he praises good people.

Question Number : 150 Question Id : 3421231694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



When does the state prosper?

|. When Dharma is not violated.

[

When the state is well securad.

L

. When yajnas are performed faithfully and when sufficient dakshina is offered.

+

When wicked persons are punished.

Question Id : 3421231689 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Question Number : 146 Question Id : 3421231690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Question Number : 147 Question Id : 3421231691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Correct Marks : 2 Wrong Marks : 0
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Correct Marks : 2 Wrong Marks : 0
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Correct Marks : 2 Wrong Marks : 0
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